4th Grade Girls - Standings (2014-15)										
Rank	Team	W	L	Win %	тс	CGA	QP	TP	QP/TP	
1	East Greenwich	24	1	0.960	7	8	39	8	4.875	
2	Narragansett	10	6	0.625	1	4	15	5	3.000	
3	Scituate	9	9	0.500	2	3	14	8	1.750	
4	CLCF	8	7	0.533	0	1	9	6	1.500	
5	West Warwick	6	7	0.462	0	0	6	6	1.000	
6	South Kingstown	5	9	0.357	0	0	5	6	0.833	
7	North Kingstown	4	11	0.267	0	1	5	7	0.714	
8	Pona. (McCorm.)	2	10	0.167	0	1	3	6	0.500	
-	Pona. (Field)*	0	2	0.000	0	0	0	1	0.000	
-	Smithfield*	0	2	0.000	0	0	0	1	0.000	

<sup>\* =</sup> Not eligible for RIYBA State Championships

Key	to	Abb	rev	iati	ons
-----	----	-----	-----	------	-----

Rank = Position in Standings

W = Total Number of Wins (Each win adds 1 Point to Quality Points)

L = Total Number of Losses (Losses do not affect Quality Points)

Win % = Total Wins divided by Total # of Games Played {(Wins) / (Wins + Losses)}

TC = Tournament Championships (Each TC adds 1 Point to Quality Points)

CGA = Championship Game Appearances (Each CGA adds 1 Point to Quality Points)

QP = Quality Points (QP = W + TC + CGA)

TP = Total Number of Tournaments Played

QP/TP = Quality Points Per Tournament Played (QP divided by TP)

5th Grade Girls - Standings (2014-15)											
Rank	Team	w	L	Win %	тс	CGA	QP	TP	QP/TP		
1	Coventry	22	3	0.880	6	9	37	9	4.111		
2	South Kingstown	18	3	0.857	5	7	30	8	3.750		
3	Scituate	11	9	0.550	1	3	15	8	1.875		
4	North Kingstown	11	12	0.478	0	4	15	9	1.667		
5	East Greenwich	10	13	0.435	0	1	11	10	1.100		
6	Ponaganset	5	12	0.294	0	0	5	7	0.714		
7	CLCF	1	9	0.100	0	0	1	5	0.200		
8	Smithfield	0	11	0.000	0	0	0	5	0.000		

## **Key to Abbreviations**

Rank = Position in Standings

W = Total Number of Wins (Each win adds 1 Point to Quality Points)

L = Total Number of Losses (Losses do not affect Quality Points)

Win % = Total Wins divided by Total # of Games Played {(Wins) / (Wins + Losses)}

TC = Tournament Championships (Each TC adds 1 Point to Quality Points)

CGA = Championship Game Appearances (Each CGA adds 1 Point to Quality Points)

QP = Quality Points (QP = W + TC + CGA)

TP = Total Number of Tournaments Played

QP/TP = Quality Points Per Tournament Played (QP divided by TP)

6th Grade Girls - Standings (2014-15)										
Rank	Team	w	L	Win %	тс	CGA	QP	TP	QP/TP	
1	Scituate	20	4	0.833	3	5	28	7	4.000	
2	Smithfield	14	4	0.778	2	5	21	6	3.500	
3	South Kingstown	16	6	0.727	3	4	23	8	2.875	
4	North Kingstown	21	10	0.677	2	5	28	11	2.545	
5	East Greenwich	15	11	0.577	1	2	18	9	2.000	
6	West Warwick	10	7	0.588	1	1	12	7	1.714	
7	Barrington	7	9	0.438	0	0	7	6	1.167	
8	Coventry	8	15	0.348	0	1	9	10	0.900	
9	Ponaganset	6	13	0.316	0	0	6	8	0.750	
10	CLCF	3	16	0.158	0	0	3	9	0.333	
11	EWG	1	10	0.091	0	0	1	5	0.200	
12	North Providence	0	8	0.000	0	0	0	4	0.000	
13	Portsmouth	0	10	0.000	0	0	0	5	0.000	
-	Coventry (5th)*	1	2	0.333	0	0	1	1	1.000	

<sup>\* =</sup> Not eligible for RIYBA State Championships

Key to Abbreviations
Rank = Position in Standings
W = Total Number of Wins (Each win adds 1 Point to Quality Points)
L = Total Number of Losses (Losses do not affect Quality Points)
Win % = Total Wins divided by Total # of Games Played {(Wins) / (Wins + Losses)}
TC = Tournament Championships (Each TC adds 1 Point to Quality Points)
CGA = Championship Game Appearances (Each CGA adds 1 Point to Quality Points)
QP = Quality Points (QP = W + TC + CGA)
TP = Total Number of Tournaments Played
QP/TP = Quality Points Per Tournament Played (QP divided by TP)
(The "QP/TP" column will be used to rank the teams)

7th Grade Girls - Standings (2014-15)											
Rank	Team	W	L	Win %	тс	CGA	QP	TP	QP/TP		
1	South Kingstown	20	6	0.769	4	7	31	8	3.875		
2	Johnston	18	3	0.857	5	6	29	8	3.625		
3	East Greenwich	12	5	0.706	2	3	17	6	2.833		
4	CLCF	12	11	0.522	1	3	16	10	1.600		
5	North Kingstown	9	14	0.391	0	2	11	9	1.222		
6	Scituate	4	8	0.333	0	1	5	6	0.833		
7	Smithfield	4	11	0.267	0	1	5	7	0.714		
8	Coventry	5	16	0.238	0	0	5	9	0.556		
-	Barrington*	2	1	0.667	0	1	3	1	3.000		
-	Chariho*	0	3	0.000	0	0	0	1	0.000		
-	Tiverton*	0	4	0.000	0	0	0	2	0.000		

<sup>\* =</sup> Not eligible for RIYBA State Championships

Key to Abbreviations	Kev	to A	Abbre	eviati	ons
----------------------	-----	------	-------	--------	-----

Rank = Position in Standings

W = Total Number of Wins (Each win adds 1 Point to Quality Points)

L = Total Number of Losses (Losses do not affect Quality Points)

Win % = Total Wins divided by Total # of Games Played {(Wins) / (Wins + Losses)}

TC = Tournament Championships (Each TC adds 1 Point to Quality Points)

CGA = Championship Game Appearances (Each CGA adds 1 Point to Quality Points)

QP = Quality Points (QP = W + TC + CGA)

TP = Total Number of Tournaments Played

QP/TP = Quality Points Per Tournament Played (QP divided by TP)

8th Grade Girls - Standings (2014-15)									
Rank	Team	w	L	Win %	тс	CGA	QP	TP	QP/TP
1	Johnston	21	3	0.875	4	6	31	7	4.429
2	Barrington	12	4	0.750	1	3	16	5	3.200
3	EWG	12	4	0.750	1	2	15	5	3.000
4	East Greenwich	14	9	0.609	1	2	17	9	1.889
5	North Kingstown	12	8	0.600	1	1	14	8	1.750
6	Smithfield	10	8	0.556	0	1	11	7	1.571
7	Coventry	10	12	0.455	1	1	12	8	1.500
8	CLCF	11	13	0.458	0	1	12	10	1.200
9	North Providence	8	14	0.364	0	2	10	9	1.111
10	Narragansett	4	6	0.400	0	0	4	4	1.000
11	Scituate	5	10	0.333	0	0	5	6	0.833
12	Portsmouth	3	16	0.158	0	0	3	8	0.375
13	Warwick	2	12	0.143	0	0	2	6	0.333
-	Tiverton*	1	2	0.333	0	0	1	1	1.000
-	Tiverton (7th)*	1	2	0.333	0	0	1	1	1.000
-	Burrillville*	1	3	0.250	0	0	1	2	0.500
-	SK (Bollentin)*	0	4	0.000	0	0	0	2	0.000

## **Key to Abbreviations**

Rank = Position in Standings

W = Total Number of Wins (Each win adds 1 Point to Quality Points)

L = Total Number of Losses (Losses do not affect Quality Points)

Win % = Total Wins divided by Total # of Games Played {(Wins) / (Wins + Losses)}

TC = Tournament Championships (Each TC adds 1 Point to Quality Points)

CGA = Championship Game Appearances (Each CGA adds 1 Point to Quality Points)

QP = Quality Points (QP = W + TC + CGA)

TP = Total Number of Tournaments Played

QP/TP = Quality Points Per Tournament Played (QP divided by TP)

<sup>\* =</sup> Not eligible for RIYBA State Championships